Accepted manuscript

DOI: https://doi.org/10.33039/ami.2022.07.001

URL: https://ami.uni-eszterhazy.hu

Tauberian theorems via the generalized Nörlund mean for sequences in 2-normed spaces

Valdete Loku^a, Naim L. Braha^{b*}, Mohammad Mursaleen^c

^aUniversity of Applied Sciences, Rr. Universiteti, p.n. 70000 Ferizaj, Kosovo valdeteloku@gmail.com

^bUniversity of Prishtina, Department of Mathematics and Computer Sciences, Avenue Mother Theresa, No-5, Prishtine, 10000, Kosovo and Research Institute ILIRIAS, Rr-Janina, No-2, Ferizaj, 70000, Kosovo nbraha@yahoo.com

^cDepartment of Medical Research, China Medical University Hospital, China Medical University (Taiwan), Taichung, Taiwan and Department of Mathematics, Aligarh Muslim University, Aligarh 202002, India mursaleem@gmail.com

Abstract. In this paper, we will show Tauberian conditions under which ordinary convergence of the sequence (x_n) in 2-normed space X, follows from $T_n^{p,q}$ -summability. In fact we give a necessary and sufficient Tauberian condition for this method of summability. Also, we prove that Tauberian Theorems for these summability methods are valid with Schmidt-type slowly oscillating condition as well as with Hardy-type "big O" condition.

Keywords: $T_n^{p,q}$ -summability method; Tauberian theorems; Nörlund summability; Schmidt-type oscillating slowly sequences; Hardy-type condition; 2-normed space

AMS Subject Classification: 40E05, 40G05, 40A05

Submitted: April 1, 2021 Accepted: July 21, 2022 Published online: July 29, 2022

^{*}Corresponding author

1. Introduction

The Tauberian theory based on the following fact. If the sequence (x_n) converges, i.e.

$$\lim_{n \to \infty} x_n = l$$

exists then it follows that the limit in sense of a regular summability method (T_n) exists and

$$\lim_{n \to \infty} T_n(x_n) = l.$$

The converse of the above fact is not true (or "does not hold") in general. Conditions under which the converse follows are known as Tauberian conditions, and the result with such conditions is known Tauberian theorem. The Tauberian theorems are investigated for many summability methods under different conditions, see for example ([2, 3, 5, 7–11]). In 1976, the well-known Hardy–Littlewood Tauberian theorem was extended to the multidimensional case by Vladimirov [14]. After that paper, the work began on a systematic investigation of the Tauberian theory of generalized functions from the standpoint of both pure mathematics and its application in theoretical and mathematical physics. In [4], some multidimensional Tauberian theorems for generalized functions were established along with their application in mathematical physics. In recent year the Tauberian theorems were proved in 2-normed spaces for the Cesàro summability method (see [12]).

The convolution (p * q) of two non-negative sequences (p_n) and (q_n) is defined by

$$R_n := (p * q)_n = \sum_{k=0}^n p_k q_{n-k} = \sum_{k=0}^n p_{n-k} q_k.$$

In case $(p*q)_n \neq 0$ for all $n \in \mathbb{N}$, the generalized Nörlund transform $(T_n^{p,q})$ of the sequence (x_n) is given as follows

$$T_n^{p,q} = \frac{1}{(p*q)_n} \sum_{k=0}^n p_k q_{n-k} x_k.$$

The sequence (x_n) is generalized Nörlund summable to L (see [1]), if

$$\lim_{n \to \infty} T_n^{p,q} = L. \tag{1.1}$$

Let us define

$$A(n,t) := \{q_{\lambda_n - k} - q_{n-k} : k = 0, 1, 2, \dots, n; \lambda > 1\}$$

and

$$B(n,t) := \{q_{k-\lambda_n} - q_{n-k} : k = 0, 1, 2, \dots, \lambda_n; 0 < \lambda < 1\},\$$

where $\lambda_n := [\lambda n]$ denotes the integral part of λn .

Let us suppose that the sequences $p = (p_n)$ and $q = (q_n)$ satisfies the following conditions:

$$p_n \le q_n, \quad n \in \mathbb{N},$$

 $q_n \ge 1, \quad n \in \mathbb{N},$
 $\sup_n A(n, \lambda) < \infty,$

and

$$\sup_{n} B(n,\lambda) < \infty.$$

If

$$\lim_{n\to\infty} x_n = L$$

implies (1.1), then the method (N, p, q) is regular. The necessary and sufficient condition for the (N, p, q) method to be regular is (see [6])

$$p_{n-k}q_k = o(R_n) \ (n \to \infty, k \in \mathbb{N}),$$

and

$$\sum_{k=0}^{n} |p_{n-k}q_k| = O(R_n) \ (n \to \infty).$$

Remark 1.1. In case when $p_n \equiv q_n \equiv 1$ for $n \in \mathbb{N}$, the (N, p, q) method coincides the Cesàro (C, 1) summability. For $q_n = 1$ we get the Nörlund method (\overline{N}, p) . In case when $p_n = \binom{n+\beta}{\beta}$, $q_n = \binom{n+\alpha-1}{\alpha}$, we get the (C, α, β) ([1]) method. Finally, for $p_n = \lambda_n$ and $q_n = 1$, we get the generalized de la Vallée-Poussin method.

In this paper we will prove Tauberian theorems for the (N,p,q) summability method in 2-normed spaces.

Definition 1.2. A sequence (x_n) converges to L in a 2-norm X, i.e.

$$x_n \stackrel{\|\cdot,\cdot\|_X}{\longrightarrow} L,$$

if

$$\lim_{n \to \infty} ||x_n - L, y|| = 0,$$

for all $y \in X$.

A sequence (x_n) in a 2-normed space X is $T_n^{p,q}$ summable to $L \in X$ and write, in sign: $x_n \stackrel{\|\cdot,\cdot\|_X}{\longrightarrow} L(T_n^{p,q})$, if

$$\lim_{n \to \infty} ||T_n^{p,q} - L, y|| = 0,$$

for all $y \in X$.

Theorem 1.3. In a 2-normed space X, $\lim_n x_n = L \in X$, implies $\lim_n T_n^{p,q} = L$ in X. The converse statement is not true in general.

Proof. Let us suppose that $\lim_n x_n = L$ in a 2-normed space X. It is clear that, for every $\epsilon > 0$, there exists an n_0 such that for every $n > n_0$ and any $y \in X$ we have

$$||x_n - L, y|| < \epsilon$$
:

and for any $n < n_0, y \in X$ there exists a M > 0 such that

$$||x_n - L, y|| \le M.$$

Now we can estimate as follows:

$$\begin{aligned} & \|T_{n}^{p,q} - L, y\| \\ & = \left\| \frac{1}{(p*q)_n} \sum_{k=0}^{n} p_k q_{n-k} x_k - L, y \right\| = \left\| \frac{1}{(p*q)_n} \sum_{k=0}^{n} p_k q_{n-k} (x_k - L), y \right\| \\ & \le \left\| \frac{1}{(p*q)_n} \sum_{k=0}^{n_0} p_k q_{n-k} (x_k - L), y \right\| + \left\| \frac{1}{(p*q)_n} \sum_{k \in \{n_0+1, \dots, n\}} p_k q_{n-k} (x_k - L), y \right\| \\ & \le M \cdot \frac{A_{n_0}^{p,q}}{(p*q)_n} + \epsilon, \end{aligned}$$

where $A_{n_0}^{p,q} = \sum_{k=0}^{n_0} p_k q_{n-k}$. Hence, we get desired result.

Example 1.4. Consider $X = \mathbb{R}^3$ and

$$||x,y|| = \max\{|x_1y_2 - x_2y_1|, |x_1y_3 - x_3y_1|, |x_2y_3 - x_3y_2|\},\$$

where $x = (x_1, x_2, x_3), y = (y_1, y_2, y_3)$. Let

$$x_n = \left(1 + (-1)^n, 2 + (-1)^n, 3 + \frac{3(-1)^n}{2}\right),$$

and $y = (y_1, y_2, y_3) \in X$.

If we put $p_n = n$ and $q_n = 1$, then we have

$$T_n^{p,q}(1+(-1)^n) = 1 + \frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)},$$

$$T_n^{p,q}(2+(-1)^n) = 2 + \frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)},$$

$$T_n^{p,q}\left(3 + \frac{3(-1)^n}{2}\right) = 3 + \frac{3(-1)^n}{2(n+1)} + \frac{3[(-1)^n - 1]}{4n(n+1)}.$$

Now we will prove that $T_n^{p,q} \to (1,2,3)$ in the 2-normed space X.

$$\lim_{n \to \infty} \|T_n^{p,q} - L, y\|$$

$$= \lim_{n \to \infty} \left\| \left(\frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)}, \frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)}, \frac{3(-1)^n}{2(n+1)} + \frac{3[(-1)^n - 1]}{4n(n+1)} \right), y \right\|$$

$$= \lim_{n \to \infty} \max \left\{ \left| y_2 \left(\frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)} \right) - y_1 \left(\frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)} \right) \right|,$$

$$\left| y_3 \left(\frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)} \right) - y_1 \left(\frac{3(-1)^n}{2(n+1)} + \frac{3[(-1)^n - 1]}{4n(n+1)} \right) \right|,$$

$$\left| y_3 \left(\frac{(-1)^n}{n+1} + \frac{(-1)^n - 1}{2n(n+1)} \right) - y_2 \left(\frac{3(-1)^n}{2(n+1)} + \frac{3[(-1)^n - 1]}{4n(n+1)} \right) \right| \right\} = 0.$$

So (x_n) is $T_n^{p,q}$ -summable to (1,2,3) in 2-normed space X. Now we will prove that (x_n) does not converge to (1,2,3) in 2-normed space X. Let $y=(1,1,1)\in\mathbb{R}^3$ then

$$\lim_{n \to \infty} ||x_n - L, y|| = \lim_{n \to \infty} \left\| \left((-1)^n, (-1)^n, \frac{3(-1)^n}{2} \right), (y_1, y_2, y_3) \right\|$$

$$= \lim_{n \to \infty} \max \left\{ |(-1)^n \cdot y_2 - (-1)^n \cdot y_1|, \left| (-1)^n \cdot y_3 - \frac{3(-1)^n}{2} \cdot y_1 \right|, \right.$$

$$\left| (-1)^n \cdot y_3 - \frac{3(-1)^n}{2} \cdot y_2 \right| \right\} \neq 0,$$

sequence (x_n) is not convergent.

2. Tauberian theorems for $T_n^{p,q}$ -summability method

Theorem 2.1. Let (p_n) and (q_n) be two sequences of real numbers defined as above and

$$\lim \inf_{n \to \infty} \frac{R_{\lambda_n}}{R_n} > 1, \quad \lambda > 1$$
 (2.1)

where $\lambda_n = [\lambda n]$. Suppose that $\lim_n T_n^{p,q} = L$, in 2-normed space X. Then (x_n) is convergent to the same number L in 2-normed space X if and only if

$$\inf_{\lambda > 1} \lim \sup_{n \to \infty} \left\| \frac{1}{R_{\lambda_n} - R_n} \sum_{i=n+1}^{\lambda_n} p_i q_{\lambda_n - i} (x_i - x_n), y \right\| = 0 \tag{2.2}$$

and

$$\inf_{0 < \lambda < 1} \lim \sup_{n \to \infty} \left\| \frac{1}{R_n - R_{\lambda_n}} \sum_{i = \lambda_n + 1}^n p_i q_{n-i} (x_n - x_i), y \right\| = 0.$$
 (2.3)

Definition 2.2. The sequence $(x_n) \in X$ is slowly oscillating (see [13]) in a 2-normed space if

$$\inf_{\lambda > 1} \lim \sup_{n \to \infty} \max_{n \le k \le \lambda_n} ||x_k - x_n, y|| = 0$$

for all $y \in X$, or equivalently

$$\inf_{0 < \lambda < 1} \lim \sup_{n \to \infty} \max_{\lambda_n \le k \le n} ||x_n - x_k, y|| = 0$$

for all $y \in X$.

Denoting $\Delta x_n = x_n - x_{n-1}$, we can rewrite the above conditions to the form

$$\inf_{\lambda > 1} \lim \sup_{n \to \infty} \max_{n \le k \le \lambda_n} \left\| -\sum_{i=k+1}^n \Delta x_i, y \right\| = 0$$

and

$$\inf_{0<\lambda<1} \lim\sup_{n\to\infty} \max_{\lambda_n \le k \le n} \left\| \sum_{i=k+1}^n \Delta x_i, y \right\| = 0,$$

for all $y \in X$.

We will need the following lemmas.

Lemma 2.3 ([3]). For the sequences of real numbers (p_n) and (q_n) , condition (2.1) is equivalent to

$$\lim\inf_{n\to\infty}\frac{R_n}{R_{\lambda_n}}>1,\quad 0<\lambda<1.$$

Lemma 2.4. Let (p_n) and (q_n) be the sequences defined as above and relation (2.1) is satisfied. Assume that $x = (x_n)$ is $T_n^{p,q}$ -convergent to L, in the 2-normed space X. Then for every $\lambda > 0$,

$$\lim_{n} ||T_{\lambda_n}^{p,q} - L, y|| = 0$$

for every $y \in X$.

Proof. Case 1: $\lambda > 1$. Then from the definition of $\lambda = (\lambda_n)$, we get

$$\lim_{n} (n - \lambda_n) = \lim_{n} (R_{\lambda_n} - R_n).$$

Now from given conditions, for every $\epsilon > 0$ we have:

$$||T_{\lambda_n}^{p,q} - L, y|| \le ||T_{\lambda_n}^{p,q} - T_n^{p,q}, y|| + ||T_n^{p,q} - L, y|| \le \epsilon.$$

Case 2: $0 < \lambda < 1$. For $\lambda_n = [\lambda \cdot n]$, for any natural number n, we can conclude that $(T_{\lambda_n}^{p,q})$ does not appear more than $[1 + \lambda^{-1}]$ times in the sequence $(T_n^{p,q})$. In fact if there exist integers k, l such that

$$n \le \lambda \cdot k < \lambda(k+1) < \dots < \lambda(k+l-1) < n+1 \le \lambda(k+l),$$

then

$$n + \lambda(l-1) \le \lambda(k+l-1) < n+1 \Rightarrow l < 1 + \frac{1}{\lambda}$$

and

$$||T_{\lambda_n}^{p,q} - L, y|| \le \left(1 + \frac{1}{\lambda}\right) ||T_n^{p,q} - L, y|| \le \epsilon.$$

From this, $\lim_n ||T_{\lambda_n} - L, y|| = 0$ follows.

Lemma 2.5. Let (p_n) and (q_n) be the sequences defined as above and relation (2.1) be satisfied. Let $x = (x_n)$ be $T_n^{p,q}$ -convergent to L, in 2-normed space X. Then for every $\lambda > 0$,

$$\lim_{n} \left\| \frac{1}{R_{\lambda_n} - R_n} \sum_{k=n+1}^{\lambda_n} p_k q_{\lambda_n - k} x_k - L, y \right\| = 0 \quad \text{for} \quad \lambda > 1$$
 (2.4)

and

$$\lim_{n} \left\| \frac{1}{R_n - R_{\lambda_n}} \sum_{k=1, -1}^{n} p_k q_{n-k} x_k - L, y \right\| = 0 \quad \text{for} \quad 0 < \lambda < 1, \tag{2.5}$$

for every $y \in X$.

Proof. Case 1: $\lambda > 1$. We get

$$\left\| \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=n+1}^{\lambda_{n}} p_{k} q_{\lambda_{n}-k} x_{k} - L, y \right\|$$

$$= \left\| \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{\lambda_{n}} p_{k} q_{\lambda_{n}-k} x_{k} - L, y - \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{n} p_{k} q_{\lambda_{n}-k} x_{k} - L, y \right\|$$

$$= \left\| \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{\lambda_{n}} p_{k} q_{\lambda_{n}-k} x_{k} - L, \right\|$$

$$y - \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{n} p_{k} (q_{n-k} + q_{\lambda_{n}-k} - q_{n-k}) x_{k} - L, y \right\|$$

$$\leq \left\| \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{\lambda_{n}} p_{k} q_{\lambda_{n}-k} x_{k} - L, y - \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{n} p_{k} q_{n-k} x_{k} - L, y \right\|$$

$$+ \left\| \frac{1}{R_{\lambda_{n}} - R_{n}} \sum_{k=0}^{n} p_{k} (q_{\lambda_{n}-k} - q_{n-k}) x_{k} - L, y \right\|.$$
(2.6)

We know that

$$\lim_{n} \sup \frac{R_{n}}{R_{\lambda_{n}} - R_{n}} = \left(\lim_{n} \inf \frac{R_{\lambda_{n}}}{R_{n}} - 1\right)^{-1} < \infty. \tag{2.7}$$

Now from (2.6) and (2.7), we get (2.4).

Case 2: $0 < \lambda < 1$. Then we have

$$\left\| \frac{1}{R_n - R_{\lambda_n}} \sum_{k=\lambda_n+1}^n p_k q_{n-k} x_k - L, y \right\|$$

$$= \left\| \frac{1}{R_n - R_{\lambda_n}} \sum_{k=0}^n p_k q_{n-k} x_k - L, y - \frac{1}{R_n - R_{\lambda_n}} \sum_{k=0}^{\lambda_n} p_k q_{n-k} x_k - L, y \right\|$$

$$= \left\| \frac{1}{R_{n} - R_{\lambda_{n}}} \sum_{k=0}^{n} p_{k} q_{n-k} x_{k} - L, \right.$$

$$\left. y - \frac{1}{R_{n} - R_{\lambda_{n}}} \sum_{k=0}^{\lambda_{n}} p_{k} (q_{\lambda_{n}-k} + q_{n-k} - q_{\lambda_{n}-k}) x_{k} - L, y \right\|$$

$$\leq \left\| \frac{1}{R_{n} - R_{\lambda_{n}}} \sum_{k=0}^{n} p_{k} q_{n-k} x_{k} - L, y - \frac{1}{R_{n} - R_{\lambda_{n}}} \sum_{k=0}^{\lambda_{n}} p_{k} q_{\lambda_{n}-k} x_{k} - L, y \right\|$$

$$+ \left\| \frac{1}{R_{n} - R_{\lambda_{n}}} \sum_{k=0}^{\lambda_{n}} p_{k} (q_{n-k} - q_{\lambda_{n}-k}) x_{k} - L, y \right\| .$$

$$(2.8)$$

In this case, we know

$$\lim \sup_{n \to \infty} \frac{R_{\lambda_n}}{R_n - R_{\lambda_n}} = \left(\lim \inf_{n \to \infty} \frac{R_n}{R_{\lambda_n}} - 1\right)^{-1} < \infty.$$
 (2.10)

From (2.9) and (2.10), we get (2.5).

Proof of Theorem 2.1. Let $\lim_n x_n = L$, and $\lim_n T_n^{p,q} = L$, in 2-normed space X. Applying Lemma 2.5, we get relation (2.2) for $\lambda > 1$, and (2.3) for $0 < \lambda < 1$. Sufficiency. Let $\lim_n T_n^{p,q} = L$ in 2-normed space X and conditions (2.1), (2.2) and (2.3) hold. We will prove that $\lim_n x_n = L$ in X. Or equivalently, $\lim_n (T_n^{p,q} - x_n) = 0$ in 2-normed space X.

For $\lambda > 1$, we have

$$x_n - T_n^{p,q} = \frac{R_{\lambda_n}}{R_{\lambda_n} - R_n} (T_{\lambda_n}^{p,q} - T_n^{p,q}) - \frac{1}{R_{\lambda_n} - R_n} \sum_{k=n+1}^{\lambda_n} p_k q_{\lambda_n - k} (x_k - x_n).$$

From relation (2.1) and Lemma 2.4, we obtain

$$\left\| \frac{R_{\lambda_n}}{R_{\lambda_n} - R_n} (T_{\lambda_n}^{p,q} - T_n^{p,q}), y \right\| < \epsilon,$$

for every $y \in X$. From (2.2), for every $\epsilon > 0$ we get

$$\left\| \frac{1}{R_{\lambda_n} - R_n} \sum_{k=n+1}^{\lambda_n} p_k q_{\lambda_n - k} (x_k - x_n), y \right\| < \epsilon,$$

for every $y \in X$. From last relations we have proved that $\lim_n (T_n^{p,q} - x_n) = 0$, in 2-normed space X.

Now for the case $0 < \lambda < 1$, we get

$$x_n - T_{\lambda_n}^{p,q} = \frac{R_n}{R_n - R_{\lambda_n}} (T_n^{p,q} - T_{\lambda_n}^{p,q}) + \frac{1}{R_n - R_{\lambda_n}} \sum_{k=1, j=1}^n p_k q_{n-k} (x_n - x_k).$$

From relation (2.1) and Lemma 2.4, we have

$$\left\| \frac{R_n}{R_n - R_{\lambda_n}} (T_n^{p,q} - T_{\lambda_n}^{p,q}), y \right\| < \epsilon,$$

for every $y \in X$. From relation (2.3), for every $\epsilon > 0$ we get

$$\left\| \frac{1}{R_n - R_{\lambda_n}} \sum_{k=\lambda_n+1}^n p_k q_{n-k}(x_n - x_k), y \right\| < \epsilon,$$

for every $y \in X$. Hence, we have proved that $\lim_n (T_{\lambda_n}^{p,q} - x_n) = 0$, in 2-normed space X. Now proof of the Theorem follows from Lemma 2.4.

In what follows we will show that under the conditions that (x_n) is a slowly oscillating sequence (see [13]), the $T_n^{p,q}$ -summability implies the convergence in the ordinary sense.

Theorem 2.6. Let X be a 2-normed space and $(x_n) \in X$ be $T_n^{p,q}$ -limitable to L. If (x_n) is slowly oscillating in 2-normed space X, then (x_n) converges to L in X.

Proof. In case $\lambda > 1$ let us suppose that $T_n^{p,q}$ converges to L in X. To prove that $(x_n) \to L$ in X, it is enough to prove that

$$\lim_{n} ||T_n^{p,q} - x_n, y|| = 0,$$

for every $y \in X$. Let us start with

$$||T_n^{p,q} - x_n, y|| = \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} x_k - x_n, y \right\| = \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} (x_k - x_n), y \right\|$$
$$= \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} \sum_{j=k+1}^n \Delta x_j, y \right\| \le \max_{0 \le k \le n} \left\| \sum_{j=k+1}^n \Delta x_j, y \right\|.$$

Taking limit superior in both sides of the above relation and then infimum, we get

$$\inf_{\lambda > 1} \lim_{n \to \infty} \sup ||T_n^{p,q} - x_n, y|| = 0.$$

Hence, it is proved that (x_n) converges to L in X.

The case $0 < \lambda < 1$ is similar to the previous one and for this reason we omit it.

The following result shows that if (x_n) satisfies Hardy ([6]) conditions, and is $T_n^{p,q}$ -summable, then it converges in the ordinary sense.

Theorem 2.7. Let $(x_n) \in X$ be $T_n^{p,q}$ -summable to L in 2-normed space X. If (x_n) satisfies relation

$$n\Delta x_n = 0(1),$$

then (x_n) converges to L in X.

Proof. It is enough to prove that

$$\lim_{n} ||T_n^{p,q} - x_n, y|| = 0$$

for every $y \in X$. First, suppose that $\lambda > 1$. From the condition

$$n\Delta x_n = 0(1),$$

it follows that for every $\epsilon > 0$, there exists an n_0 such that for every $n > n_0$ we have

$$|n\Delta x_n| < \epsilon$$
.

A routine calculation gives

$$||T_n^{p,q} - x_n, y|| = \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} x_k - x_n, y \right\| = \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} (x_k - x_n), y \right\|$$
$$= \left\| \frac{1}{R_n} \sum_{k=0}^n p_k q_{n-k} \sum_{j=k+1}^n \Delta x_j, y \right\| \le \max_{0 \le k \le n} \left\| \sum_{j=k+1}^n \Delta x_j, y \right\|.$$

From above relations, we get

$$||T_n^{p,q} - x_n, y|| \le \max_{0 \le k \le n} \left| \sum_{j=k+1}^n \Delta x_j, y \right| \le \epsilon.$$

Hence, it is proved that (x_n) converges to L in X.

The second case, when $0 < \lambda < 1$, can be proved similarly.

Competing interests. The authors declare that they have no competing interests.

Authors contributions. All the authors contributed equally and significantly in writing this paper.

References

- [1] D. BORWEIN: On products of sequences, J. London Math. Soc. 33 (1958), pp. 352-357, DOI: https://doi.org/10.1112/jlms/s1-33.3.352.
- [2] N. L. Braha: Tauberian conditions under which λ-statistical convergence follows from statistical summability (V, λ), Miskolc Math. Notes 16.2 (2015), pp. 695-703, DOI: https://doi.org/10.18514/MMN.2015.1254.
- [3] I. CANAK, N. L. BRAHA, U. TOTUR: A Tauberian theorem for the generalized Nörlund summability method, Georgian Math. J. 27.1 (2020), pp. 31-36, DOI: https://doi.org/10.1515/gmj-2017-0062.

- [4] Y. N. DROZHZHINOV, B. I. ZAVYALOV: Applications of Tauberian theorems in some problems in mathematical physics, Theoretical and Mathematical Physics 157.3 (2008), pp. 1678–1693, DOI: https://doi.org/10.1007/s11232-008-0140-6.
- O. H. H. EDELY, M. MURSALEEN: Tauberian theorems for statistically double sequences, Information Sciences, Information Sciences 176 (2006), pp. 875-886, DOI: https://doi.org/10.1016/j.ins.2005.01.006.
- [6] G. H. HARDY: Divergent Series, in: Divergent Series, New York: Chelsea, 1991.
- [7] L. LEINDLER: Über die de la Vallée-Pousinsche Summierbarkeit allgemeiner Orthogonalreihen, Acta Math. Acad. Sci. Hungar. 16 (1965), pp. 375–387, DOI: https://doi.org/10.1007/BF01904844.
- [8] V. Loku, N. Braha, M. Et, A. Tato: Tauberian theorems for the generalized de la Vallée-Poussin mean-convergent sequences of fuzzy numbers, Bull. Math. Anal. Appl. 9.2 (2017), pp. 45–56.
- [9] V. Loku, N. L. Braha: Tauberian theorems by weighted summability method, Armen. J. Math. 9.1 (2017), pp. 35–42.
- [10] F. Móricz: Necessary and sufficient Tauberian conditions for the logarithmic summability of functions and sequences, Studia Mathematica 219.2 (2013), pp. 109-121, DOI: https://d oi.org/10.4064/sm219-2-2.
- [11] F. MÓRICZ, Z. NÉMETH: Statistical extension of classical Tauberian theorems in the case of logarithmic summability, Analysis Mathematica 40.3 (2014), pp. 231-242, DOI: https://doi.org/10.1007/s10476-014-0305-5.
- [12] R. SAVAS, S. A. SEZER: Tauberian theorems for sequences in 2-normed spaces, Results Math. 72.4 (2017), pp. 1919–1931, DOI: https://doi.org/10.1007/s00025-017-0747-8.
- [13] R. SCHMIDT: Über divergente Folgen und lineare Mittelbildungen, Math. Z. 22.1 (1925), pp. 89–152, DOI: https://doi.org/10.1007/BF01479600.
- [14] V. S. VLADIMIROV: Multidimensional generalization of a Tauberian theorem of Hardy and Littlewood, Izv. Math. 10 (1976), pp. 1031-1048, DOI: https://doi.org/10.1070/IM1976v01 0n05ABEH001824.